Ag e
= ) ol et o S2(8)-(A) - ol &by =2(8)-(A)
2 o = 2 & = A=
o (A) TN EREED 2E(A) =21(8) EFI D
Ae+e  |mei+e o224 | 20,000,000 20,000,000 0 ofsres oz |=o =01 154,048,000  155.000.000]  952.000] 0.62
PENTES
2 [nerw |nesa |5ENEE 15,500,000(  15.500,000{ 0 olaen |azw |Mag  |samas 10,400,000 10,400,000 0 0
- P o o = e
s [wesre |wesa [5E42 300,000 300,000 0 olaen |azw |Mag  |wzssc 2,880,000 2,880,000 0 0
ST S Y 1.000,0000  1.000.000] o T CET T 1.200,000 1,200,000 0 0
B T T Y 100,000 100,000 0 olses |oze | |esmz  |esaz 3,600,000 3,600,000 0 0
Sms 2 |gas o
6 [Mase (e |iese 1,200,000  1.200,000] 0 R CEL Er) i 14,050,000{ 14,124,000 74,00  0.53
EEEEREEEEE
wxz49 [2x249 [WewE2 | 236,250,000 236,250,000 0 o TR INETTTR o a4 5,500,000  6.307.000] 807,000 14.67
EEEENEREES
Sxz49 [2x249 [NEEZ2 10,400,000 10.400,000{ 0 TR INETTTR o =4 7,800,000 7,800,000 0 0
Sxz49 [2x249 [NEEZ2 2,880,000 2,880,000 0 s |ozw  (MERER lupuaz 1,310,000 1,310,000 0 0
- . - EEEERREEEE
saz4g |sa34e (Unswz 12,000,000 12,000,000{ 0 TR INETTTR A 18 2,180,000 2,180,000 0 0
- - . IEErERNEEEE
saz4y |sa34e (Unswz 25,000 25,000 0 R CEC R o 5,640,000 5,640,000 0 0
sszse [sRa4e [NEsE2 7.233.000]  7.233.000] 0 ofaen |eezan pizegu bizeg 300,000 300,000 0 0
saz4g |sa34e |Unsw2 9.020.000]  9.930.000] 0 T CEE T EET EEX 100,000 100,000 0 0
saz4y |sazsy [YNEFE 10,000,000] 10,000,000 0 o|Arel 29| o1l 28I 300,000 300,000 0 0
FEER ECEN CEEEE 1,060,000 1,060,000 0 ola=b  |e=u ot 51 EFOLH] 200,000 200,000 0 0
EREPE 202 |+=0 &
LI CEEI e 1,000,000 1,000,000 0 olnen  |eww |TBYU R |+8U 22,500,000 27,587,000 5.087.000| 22.61
N - EEEVE] - = e
ozz |ozz | 20,570,000]  20.570,000{ 0 olsse  |eew  |zzez |zze= 12,700,000]  11,100,000| -1.600,000] -12.6
N N EERVE - - -
ozz |ozz | 3,000 3.00 0 olasen |egw  |mMznz |MAzDE 2,060,000  3.270,000] 310,000 10.47
N - EERVE - - -
ozz |ozz & 1,000 1,000 0 olsen  |ees  |mew  |wew 970,000 970,000 0 0
N - EEEGE] -
ozz |ozz | 7.305.000]  7.395,000 0 olsen |eew  |ezs ez 600,000 600,000 0 0
N N EERVE - - -
ozz |ozz | 12,015,800 12,015,800 0 olase |egw  |esaw esaw 2,440,000  2.005,000] 345,000 -14.14
N - EERVE
ozz |ozz | 245,000 245,000 0 olmazan |Agu  (uaw |aaw 300,000 300,000 0 0
- - FEEGE] e e
ozz |ozz | 1,213,000 1,213,000 0 olmarzanl (A |mass |vess 2,000,000 6,750,000 4,750,000 237.5
bIEl 2 PRI N
oz |omz |2E=0E 50,000 50,000 0 o| ez A A&yl ?:;05' = ?:;C’H' = 700,000 1.700.000] 1,000,000| 142.86
EEENE
oz |omz |2E=0E 1,022,200 1,022,200 0 olrel e |2 |aon 30,200,000 22,644,000 7,556,000 -25.02
— P ETEEE] » " N (=P e
EE CECI ey 3,641,000  3.641,000 0 ofues  |wew  [mswew [FEN%2 | o7.40.000 48501000 8,979,000 -15.62
e ENEE
EE G ey 6,551,000 6551000 0 ofues e |mswew [FENEE 3,752,000 3,752,000 0 0
ENEE
EER EE R NPT 4,000,000 4,000,000 0 ofues e |mswew [FENEE 1,000,000]  6.,000,000| 5,000,000 500
EEETED
sre |ase B 10,000 10,000 0 olarel | |2waren (2w 12,606,000] 12,606,000 0 0
e EE] EE]
are fasa  [REA20 29,000 20,000 0 ofnes w5 EMN[BEEAN 2,652,000 2,652,000 0 0
= = =
zag zag ;Egﬂo‘ 1,000 1.000] 0 o| Arest et g;:ﬁxw g;:ﬁxw 500,000 500,000 0 0
BB EIEEE
zre |msy  |iemey 200,000 200,000{ 0 ofnes  wem  [FAENE RS 225,000 225,000 0 0
ERESY EFTES Y
nes e |58 oo 820,000 820,000 0 0
ARH |MRE |sRAell [zesaa 500,000 500,000 0 0
EES EESN
LI T il st 4,000,000 4,000,000 0 0
EECEED
2s238 1A
o
mesl |wes (EERSE(TEMEN] 7236000 7,206,000 0 0
=)
W EEEEE
zso23
pes |ngs [BEESE Inane 9,032,000 9,932,000 0 0
ekttt L9V
=1z |anz  |axs  |suss 0 500,000 500,000 0
oloiel 2 ojoiol 2 GIBI1 (A
b o osis |4 216,000 216,000 0 0
T EEN ETIERED CTIERE]
b o osis |2 20,000 20,000 0 0
TN T EEEION
b o waz |4 6,000 6,000 0 0
CEEIE CE I P EEEE
b o waz |2 2,000 2,000 0 0
2 385,825,000 385,825,000 0 0 23 385,825,000 385,825,000 0 0




